Matrices

B A matrix can be thought of as an array of numbers (a collection of numbers set out in a

table) and they come in different shapes and sizes.
& O o~
B You can describe these different shapes and sizes in terms of the dimension of the matrix. :
This is given by two numbers n and m in the form n > m (read as n by m), where n s the
number of rows (horizontal or across the page) and m is the number of columns (vertical or

down the page) in the matrix.
B  An n X mmatrix has n rows and m columns.

B Matrices are usually denoted in bold print with a capital letter e.g. A, M etc.

Example Solution
Give the dimensions of the following matrices Y o i A
2 -1 g ( (/"'/ é'; \" Z P‘ / (
' b1 0 2,
a(; 73 ( ) |
. (3 2 @ LX | @/
¢ ( 4). d [—1 1]. '
_.]’ b
0 -3
You can add and subtract matrices of the same dimension.
Example Solution
At a (2 1)+ (71 4) G/t 3 G171 -5 3
0 3 5 3 (5 e
\ 4 [’ / .4 / ’)

b(l = 4)_(0 2 }) t
2 11 3 3

B To multiply a matrix by a number you simply multiply each element of the matrix by that

number.
Solution
Examgle “l k.“_;‘;; " ( &7 ) 1/'/) ; 0 C 4)

kind a2A b lB
Multiplying Matrices

B The basic operation consists of multiplying each element in the row of the left hand matrix
by each corresponding element in the column of the right hand matrix and adding the
results together.

B The number of columns in the left hand matrix must equal the number of rows in the right
hand matrix.

B The product will then have the same number of rows as the left hand matrix and the same
number of columns as the right hand matrix.

*Matrices can only be multiplied if the no. of columns of 1% matrix is equal to the no. of rows of the 2.

*Matrices which can be multiplied are said to be conformable.
So if n is from the number of rows in A.
A XB = e kis from the number of columns in B.
Dimensions: (1 X m) X (m X k) (n X Kk) =

L ! These numbers must be the same.

.



Example Solution

. ~1 0 (4 ) ¢/ AR 7 1 ,

1 A= B = ﬁ ) < C /&
Given that ( ) 3Jand 0 —ZJ nd 2 )‘ P \
a AB A C
b BA. \

14 /‘7 { [ L \

*Matrix multiplication is not Commutative i.e. ABZBA

The Identity Matrix

The 2X2 Identity Matrix is |=((1) g)

1 0 0
The 3X3 Identity Matrixisl=[ 0 1 0
0 0 1

Where Al=IA=A *so multiplying a matrix BY | is a bit like multiplying a number by 1.

Inverse of a 2X2

B IfA= (a b) then A=V = — 1 ( d _b) The value of ad — bc is called
c d ad—bc\-c a the determinant of A and
1 0 written det(A).
and then AA-'=A"'A = (0 ]) =1

— a b i _ = i 1 d —b
[ | A—(C d),det(A)—ad bc so A _det(A)(-—c a)

Notice that if det(A) = 0 you will not be able to find A ! because 1
i det(A)
is not defined, in such cases we say A is singular.

B [f det(A) = 0, then A is a singular matrix and A ' cannot be found.
If det(A) # 0, then A is a non-singular matrix and A Texists.

Transpose

B Given a matrix A, you form the transpose of the matrix A, by interchanging the rows and
the columns of A. You take the first row of A and write it as the first column of A7, you take
the second row of A and write it as the second column of AT, and so0 on.

IFA=|0 —3| then AT = 2 01
11 5 v 8y

B The transpose of a matrix of dimension n X m is a matrix of dimension m x n.

B The transpose of a square matrix is another square matrix with the same dimensions.
For example, the transpose of a 2 X 2 matrix is another 2 x 2 matrix.

B If A = AT, the matrix A is symmetric.



Example
Use an inverse matrix to solve the simultaneous equations
4x—y=1
—2x+ 3y =12

G )
A O .4_-/_4Z }r)
i h = g -3

2 if U
-(_ P ; [
A 13 4)

é’l/ﬂls{“’“ U} (L*Lt/éf/’ éf Cv//'(\/cx
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Transformations

A transformation of a plane takes any point A in the plane and maps it onto one and only one image A’ lying in the

!

x
plane. We say that the point A(x,y) position vector (y) has an image A’(x’,y’) position vector (;,) under the

transformation.

A transformation is said to be ‘linear’ if any linear relationship between position vectors is conserved under the
transformation i.e. if a linear transformation maps a point A position vector a onto its image A’ position vector a’
andif @ = up + aq then @’ = pp’ + aq’ where p'and q’ are the images of p and q.

All linear transformations of the plane can be expressed as a pair of equations of the form:-
x' =ax + by
y =cx+dy

Or writing this in matrix form
GG 26)

Note

1. The transformation matrix can be found by finding the image of ((1)) and (2) because
¢ D= JE-0)
i.e. the image of ((1)) is the first column of the transformation matrix

and the image of ((1)) is the second column of the transformation matrix.

2. Under any linear transformation the origin (0,0) maps to itself.
r
3. Under a translation by the vector (S) the transformation equations are

X' =x+r

y =y+s
i.e. a translation is not a linear transformation.

Note
If asked to find the transformation represented by a matrix, find the image of the unit square under this matrix.

Example

Give the geometrical description of the effect of the matrix (é (1))

Solution | L A4



f
~_//\42,6{/ ) ,r’.ll/ﬂ/'/((/x\./ //%:’ t;/~(4,{ /S

s, (10)>(17)

J/

Note
To define a shear you must state

e Invariant line and
e Image of some point not on the invariant line

Note

A shear has an invariant line and all points not on the line move parallel to the line.

e The distance gone is proportional to their distance from the line
e Points on the opposite side of the line go in the opposite direction.

Example

Find the matrices corresponding to each of the following linear transformations:-

(a) Rotation of 90° AC about the origin.
(b) Reflection in x-axis.

Solution

@ (1= /0
U d ( b

() ( )

=7 m»{(';' o= ( f f :! )
(] / >(})

=) ki = ( j. ol
U




Example

A linear transformation T has matrix (i _11) Find

(a) The image of the point (2,3) under T.
(b) The co-ordinate of the point having an image of (7,2) under T.

—/“2‘;—" E = N At ) |
i (f/](})‘(j) 7 (23)>() >
(¥ ? ;f)(tj :/27 | 71 (/ G4+
777-(77' - ;’Jbr(][?'_y
i Z _7‘ -
S (3 //

Find the 2X2 matrix which will transform (1,2) to (3,3) and (-1,1) to (-3,3).
Solution : Vs
U oad e ho /? 0/4/ \O/ﬁl/ﬁ bly 1 - FT 4
| \ T led) 2¢( T %/

= /(dj)(g/:? 4“,{//://#
A+lb=3. {
Ct2=3.-@ /f()' { /

LA T W
29 7 -
g i /f‘;.?)(w) >(§‘Z
a0 (D) 360 b0 /? c/b):—(? (’)L)

=2 a=7
add O €@ 3d=6> d=1

=7 (6=
=~

»7W// )f/3%)

AfA = 3



Transformation Matrices

If a matrix T transforms some shape ABC to its image A’B’C’, then the inverse matrix T maps A’B’C’ to ABC.

1.
If a matrix T corresponds to a certain linear transformation, then det. T gives the scale factor for any change of

2.

area under the transformation
i.e.if T transforms ABC to A’B’C’ and det T=t, then Area A'B'C’ = Area ABC X |t|

Thus any matrix with a determinant of 1 leaves the area of a shape unchanged.
If a matrix is singular i.e. det=0, the shape reduces to a straight line.

Example
Consider the transformation matrix (; i) and show all the images lie on a straight line.

Solution ( M: } ;( / Z)( Z / '/)j@ C// . / /?/
n [t ) 1.6. q [’ (~di ! $ /?/; //(

/

O~ AV‘Q L/ - Z)(

If a matrix P transforms (x,y) to (x’,y’) and matrix Q transforms (x’,y’) to (x”’,y”’) then the single matrix equivalent

to P followed by Q which will take (x,y) to (x”,y”’) directly, is given by QP.

e f‘.f%")_. /’7/ v ) it AWk ¥)
/= Co) = (o) Y y/

b

)4/ 1y
- &y

= /2
( y'

]
{

II

X
4. If QP is the matrix representing the combined transformation (y) - (y") then the inverse of

QP = (P)™' = PTiQ af

Proof B e

*UPM p168 Ex6B Q1,3,5-10,13



Further considerations

Invariant points

If a transformation maps some point A(x, ») onto itself, then A is said to be
an invariant point of the transformation.

Example 6
Find any invariant points of the transformations given by

x'=2y -3 X\ _ (2 —-lyx 3
Sy ®(y)=G )6) ()

Solution
G If AT ) iy o mvarint 9. #h 2=
/ )
{ /
7 ) /)
= A &f ¢
' " € L( // / v 7 // /
,
)
> 2.
/’/ L“/
1. )
b) ¢ Alzy) s 4 it 4
L - f v / //
, 74/
/ ( //) i } )/, / /) y // 7 >
y ( 3¢ [ (-3 /
f {(={(2-y+ )
~ ) / Ll L b
A /’7
== k! / — ) 1/{ /
\_~
d “Se-30u-3.. E
— p £
77 7= \&/



Transformation of a line

A linear transformation will map the straight line with vector equation

r = a + Ab onto the straight line with vector equation r = a’ + AV, i.e
any point lying on r = a + Ab will be transformed to a point on the image
liner = a’ + Ab"

All paralicl lines will have image lines that are parallel,

Any line that maps onto itself is said to be an invariant line of the
transformation. It is important to realise that any line which is invariant
under a certain transformation need not necessarily be made up of points
that are invariant under the transformation. For example, under a stretch
parallel to the x-axis, the x-axis itself is an invariant line (as indeed is any
line of the form y = ¢). However on the x-axis, only the point (0, 0) is an
invariant point under this transformation.

Example
Find the equations of any lines that pass through the origin and map onto

1 2
themselves under the transformation whose matrix is G ;)

/ / / /
| ARV

" / “'v,-"’,/ al ‘I“ /'/ / ol [| ¥ / o (/V ¢ Ay /". C ".'/ { ’:,,/ [ 'r«../"‘ e
(/(_‘ 4 Ava N ['/.‘4.’ 4% z / / ( : ;1 . Y { O {’/r_ /’( " LL 3 ;’/

: ~ Yy
drtes (£ mE)

Y A vy
/o~ A - A v
7
- (/‘) W =} )
;. SN )
/( M=) fmt
5 /
=, m (



Example
All points on the line y = 2x = 3 are transformed by the matrix

G _ :) Find the equation of the image line.

Solutions

Ay ot lre y=10-7 vl hue coodute of o fom
(4 24-3)

=5 /2')_ 1A +74-3 )
([,f/" 3A-24+3/

=7 '« A3 af y-#¢5
el iy ke feom o Ygvat 2

3‘57/‘3 =2 1=4-3)-5
7'= by' (5
or by'= 2415
Dall imge plr he on th lhe b= T+

Example
All points on the line r = (;) + .1(_:) are transformed by the matrix

(_f :) Find the equation of the image line.

Solution

Noo. £=4 Ak il may to [:Q(%/‘_é/
2-(} 1)/3/)/5/
- /le //)(z;/):éz/

= ape //16 il have éywm ,’:’/ Z;/ %/&/ jz)



Example

(i) Describe the transformation given by the matrix (i _01) )

(ii) The curve 5x2 + y2 — 4xy — 12x + 6y = 0 is transformed by the matrix. Show that the image of
equation of the image curve is given by X?> + Y2 —6X =0

Solution

Y & 4 5
'k )( ) 02
( O ¢ (| | / (/ /
B | jA&If mvaf/amf line [

.t (L) -?(Z/)

(i'i,} éy‘( (’/‘/%,} b /f On )/,,7249/"—477'—/2]7‘5}/:0

: (/)// /227/

et K= 1x-y
Y= 2

(//0\ X 1‘/ L gk = [2]"72 7‘{7() 5/27//

:42 '47‘/*9 ‘7‘/72-/71+éy
=ty ¢ Ziy X by
O Tom dé’vg

= i ?
=7 64(,{&{/&\ it image couve js K 2y 4 k=0



Example

(i) The set of points which form a curve whose equation is x? + y2 — 8x + 8y + 2xy = 0 is mapped by the

matrix(_l1 1)

Show that the curve formed by the image points has equation Y? + 8X = 0.
Solution ' ' B

b (vy) be gt on 2%y -2 5, +17y =0

o (4 0)(70) - /5

o Wi B i L =
? PFAFF . Conl s F~2+4)
= % 277 .,/73,3,-‘7 £,

7 .
s 4 +y(\ f,?{(f)yﬂf Z](/
= O '//C’ M a é(,) V%

A
5’7 CUrve af /M(//’,g 04, {)’ A[{f 2410 a A s
- fon ‘%/‘fﬂ (o

Yigx=0
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General Reflections and Rotations

1. Rotation about (0,0) through 8 A.C,

—5/“\(}/ = —'(? =) 2'-=‘:5/nf
(Zy) 1Y (mius becaus ife
z,/“ /effg o'f{k ?‘M/J/

7 — Gl- -IZ =7 4=wl

% -JIn
/\-@ALQ //} ‘%/C\;_}'g
=) /"\A)(/f/Y tor (o (ém//’m ﬂ a émd( Or/ g 1n

,S ([C)‘)é/ “.)//\y
s C(?f(f'

2 Reflection in a line through the origin 7 = MZ
o U= G ré
s ll = -(Z
= =¥
sin bl = 7&
= Y= J/n %

e () 2 (2,

y-lnfz




/F -
(@1) ¢, Lo &Nz )
LY

=02

/j ] =S or (2= y
( Ty =) Y= g Z('/ ( &5 é/é»‘/ A kg

0 (}
(o-0) 4 eoffo-26)= % A (c[{ ‘7(5 2

Co‘za

/0. .3/420 A
w7 /W,Uérs( 7@/ f(’/éc fon N b= Zf'v\éz ! s (aJZ@ flr\Z&’
fl/\Z& "‘COJ'Z&/

Note
e Any rotation of the x-y plane about the origin can be represented by a matrix of the form

(Z _ab) where a? + b? = 1.

e Any reflection of the x-y plane in a straight line passing through the origin can be represented by a matrix of

a b 2 2 _
the form (b —a) where a® + b= = 1.
Example

Find the matrix representing a rotation of 90° A.C. about the point A(3,5).
{r;‘( t[afé JC’/WZ/W/&/ /{ h,,{A /af [/é(((a/,l/?
{(wj(ﬂ,{é {A’ p/ﬂw So ‘(%ﬂ,{ /( /5 "‘Wé&( 1[0 00////\

.-—5 “\ﬂ i¢

= ( T) e comes / _‘
'/al(a{?i/w 0 /4( QZIZ{ B0 / “)(7

{(m)Q/e /7//%’ Jo l%d/ A moes Wk 4 (3 4

(2 N5) )

7 (4)- (0") 5)(3/
(‘7717/

Solution

,x/‘/\



=) (7’/: -y +y
Y 7+ _
9P AC o aouk (35)cnte detued by 2~y 4 ¢ 707

oo in caleix Fom ()02 ) 7)1 )

;\,/\ML i -4"""//7 a fﬂf&(ld" 01£ /0”/7‘( é[uj(&f ‘
Tfﬂ//Uwe/ {77 a ‘(/(ms/(d(!'dﬂ. ) 7”\

Example
Find the matrix equation representing an enlargement sf=3 centre (-1,4).

suien , ke @ poesl gt (20) ad (et CLE) b A
0{@)@{( 3-{' /( is  maved é Ofgin

-/ 7 v &7
. ﬂéfl) . gZ/N/x ho3 coke (29
(35X .
¢ Lewlide sloe 50 Hok A moves back £ (14
GJ=(o5) ) ()
. \?;jz/ */z: /

o f el
'5¢7~d‘7

R



Example
Find the matrix equation representing a reflection in the line y = x + 4.

Solution , (/—I}\:{%V{ 15 ¢f/4((?/4/
,{muw@ [0/4/ to 0.0?//».

) (L)

¢ r(/(ec(/ n /W =2 1e. y = f&\é? =4
) mzm)} ) (0 [ /
( Jl/\?(‘/ej) ‘[ﬁZ(é)? [ 0

’ ( f) U/)(v?/()

y Famalals  Jpk o (04
G005 o)
7o) (¢
- (%)
(TN )

/’()’ f?{/f.’( (Z/Z)« I\ /)xg 9; v '/g//gué’z:/ %
{Cans % tir, _
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Inverse of A 3X3 Matrix
Stepl Find the determinant

B You find the determinant of a 3 X 3 matrix by reducing the 3 X 3 determinant to 2 x 2
determinants using the formula

a b f d f d
g h i h i g i g h

Notice that, in the middle expression in this formula, there is a negative sign before the b.

The 2 x 2 determinant associated with the element @ in the first row of the determinant is found
by crossing out the row and column in which a lies.

ef—>“?
%hi h

The 2 X 2 determinant associated with the element b in the first row of the determinant is found
by crossing out the row and column in which b lies.

d%f
g h i

The 2 X 2 determinant associated with the element ¢ in the first row of the determinant is found
by crossing out the row and column in which c lies.

:

‘df
g i

d e
g h

d e
g h

. ‘

B Aswith 2 X 2 matrices, with 3 X 3 matrices,
if det (A) = 0, then A is a singular matrix,
if det (A) # 0, then A is a non-singular matrix,

Example

1 2 7
Find the determinantof{3 -5 2.

1 1 4
Solution

cé/:/ﬁz/--z/; L+ 713 =%
( 4 [ 4 / (
= (lo-1) -1(11-2) + (3 +3)
= =Lk =L0¢ Dk

= (4



Step?2
Form the matrix of the minors of A. In this chapter, the symbol M is used for the

matrix of the minors unless this causes confusion with another matrix in the question.
In forming the matrix of minors M, each of the nine elements of the matrix A is
replaced by its minor.

B The minor of an element of a 3 X 3 matrix is the determinant of the elements which remain
when the row and the column containing the element are crossed out,

Step3
From the matrix of minors, form the matrix of cofactors by changing the signs of
some elements of the matrix of minors according to the rule of alternating signs
illustrated by the pattern

[+ - +
[ N + N
! + - + )
Step4
Write down the transpose of the matrix of cofactors.
Step5
Divide by the determinant.
Example

1 2 7
Find the inverse of A = (3 -5 2).

1 1 4
Solution

[ /""1 (V'; ‘L" ‘/,";lfv\ //‘ ( L /’!(‘u ! G O V//Qﬁ
erﬂ,{v" I1X cnf MIAD ¢ g -~ 7 Z ((;’ 4 )
' | =3 ~f
3¢ =Y -l

/ Z /" J |
OTaTory - =Ll < &
-l =3

Ma ( (r€ ol

N i~

{un; vSe 1S S ;“/
-0 -} (9
- 4 [ ~{/

Invege (1§ G g
/4( <o -3 19

*P4 Book page 142 Ex4B Q3, 4 (alternate parts)



Transformations in 3-Dimensions
In 3D

-

a b c
If the transformation matrix is (d e f)
g h i

1 a
then (0) - <d> i.e. the 1st column of the matrix.

0 9

0 b
<1> - <e> i.e. the 2nd column of the matrix.

0 h

0 c
(O) - (f) i.e. the 3rd column of the matrix.
1 i

Example

Find the matrix representing the linear transformation

)~ (2)

Solution
)=(5) ad (7)= (o)
e o} At

Example

Find the matrix representing the linear transformation

X X
"(3)-4(:72)
zZ X+ 2z

Solution
f £ / /6
& 7 C( I /

*P4 Book page 154 Ex4C Q1,4,5,8
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2 X 2 Linear Equations

If you have 2x2 equations:-
a1 x+biy=c
a,x + by = c,
Then a unique solution for x and y may always be found using the inverse matrix, where this exists ie. When A+ 0.
Singular case
le. When M~ does not exist - |M| is zero
There are 2 case:
1) 3x—2y=1...(1)
6x —4y = —1...(2)
—2\ /X
(2 _i) (y) - (_11)
A=-12+12=0
So no inverse , so no unique solution
Reason:- lines are parallel & hence fail to intersect (gradient of each line is ;) i.e. no solution.
2)3x—-2y=1...(1)
6x—4y=2...(2)
A=-12+12=0
So no inverse, so no unique solution
Reason:- line (2) is line (1)x2 therefore lines are coincident and therefore have an infinity of points in common ie.

e . 3t-1 :
infinite number of solutions (t, tT) where t is a parameter.

Special case

NB. In the case of homogeneous equations

ax+byy=0

ax+b,y=0

(M b1) X\ _ (0

== (az b, (y) - (0)

these equations possess non-trivial solutions i.e. solutions other than x = 0,y = 0 when M1 does not exist ie. A=
0.

Result:- The existence of non-trivial solutions <=> A= 0



System of Linear Equations:- 3x3

a1 x +byy+ciz=d,
ax+ b,y +cyz=d,
a3x + b3y + C3Z = d3
These equations can be represented by :-
x dq a by
M <y> =|d, |whereM =(a, b, c;
Z d3 as b3 C3
And equations have unique solutions provided M1 exists ie. |[M| # 0.

These 3 equations represent 3 planes and if the 3 planes meet in a single point, then the co-ordinates of this point
represent a unique solution.

If [M|=0 then there is no unique solution and one of the following happens

Case 1 :- No solutions-planes have no points in common. 3 ways this can happen.

(i) 3 planes parallel
(ii) 2 planes parallel and 3™ plane intersect them
(iii) 3 planes form a prism (1 plane is parallel to the line of intersection of the other 2)

Case 2 :- An infinite number of solutions- 3 planes have a common line(spine of a book), all 3 equations represent
the same plane or 2 of the planes are the same with the other crossing (ie. a common line again)

The geometrical interpretation of these two possibilities is as follows: g

(a) No solutions (i.c. inconsistent equations).
This situation will arise when
1. two or more of the planes are parallel
(but not coincident). In such cases there
is no point common to all three planes.

or 2. each plane is parallel to the line of
intersection of the other two. Again
there will be no point that is common
to all three planes.

(b) An inﬁni!e .numb.er of. solutions. L3
This situation will arise when il
1. all three equations represent the same P i
plane. (i.e. all 3 planes are coincident).

Any point in the plane will provide a
solution to the equation.

or 2. two of the three planes are coincident
and the third plane is not parallel to
these two. The planes will intersect in a
line and any point on the line will
provide a solution.

2 planes
coincident




¢ three planes have a common line
d any point on this line provides a
lution to the equation.

Example

Solve the equations
2x—3y+4z=1
3x—y=2
x+2y—4z=1

(% fg/:z/% 0/ /?(7/+4/7//
I & 4 74
~36+2Y
=2 =) M M/{/H-Q J(}éﬂé/n‘

Solution

O+6) & Fx-4=7 1hik i3 éyomﬁ@
=7 {Ze/e ae gn /',\7///”“(2 nunlter of soltlons,
et o=
= y=J¢-1
b e ©  TE-046 +bz=(
bz = 7¢ -5
2= Tl ~%
=/ Jo/w’(m’ £ ({/ 7(-2/ 7%;——)
¥ since 1 67““/{"\”‘\% a combiration of o ot /. the efaaﬁvﬂf

are 41;Q,<(/

/ \—



Example

Solve the equations
x—3y—2z=9
x+ 11y +5z=-5
2x +8y+3z=4

(( ~(3 ;z/: ///( 7’/+}// 5/-2// 7

[

: F 3 Y 3 & A
s -3 % <) <2t

= §

Solution

=7 MW gk So/u,{l'd.«f

*{N/ {0 .JJ/W {Le 071(,47([{@«/ é/}v\//\aé b § J&y

Uéy ¥ = -1k @O0 ()
A 4 {—727 +(0Z=={0 _ 2¢)
le‘fy«“}‘z-—— L. G
gyt 7z <l .. 2@ @)-- &/
ef/mﬁm BLE) ae avuted (io. to e

mako Y {/t’ Jué/e’ﬂ/ = y= -4 -7 >z =7 y= -/\Z/L
(4

sub /n{o(/) X~ 3(- -%)_22:7 Y\//
dr | A
e 6+2/Z a4 z-€¢ "
7 sl s th b (805 g )
Z S

NE: £ wp 3 |
7““/{'0‘“( @ 4@(57 /\4{1 bé@/\ Incon Jis {mf
{/ { [ //(é Jo/ét{/w\ /e prism. %:4



Homogeneous Equations

a1 x+by+cz=0
ax+b,y+cz=0

azx +byy+c3z=0

/0)-()

If M # 0 then there exists M1

(]
)
IR

0
> = <0> therefor if M1 exists i.e. [M| # 0 then the solutions are trivial.
0

So in the homogeneous case Non-trivial solution only exist if |[M| = 0.

Example

Find the value of k for which the following equations have a non-trivial solution and find the solution in that case.
x+2y=0

3x+ky—2z=0

2x+5y—2z=0

Solution
( L C 4
\Iu (’ vi(f [ ""V(.{“"'l <-> ) /(/’ / e
] F ~L]



e i3 "4w‘f7 sy =

it 2-{ uUle € like iny Valey
ﬁ/‘((€/% LL:O,

= Jolutins are (44{/ %, 1)
wheee € ERI4#£0

*System of Linear Equations question sheet



